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(E7/TE (4/&) (f/cc) S7
A-1 FX| QA AN LX40/1 10.1 2402 0.001 -
A-2 EX|ZAM2 LX40/1 10.2 2408 0.002 -
A-3 EXAH M3 LX40/1 10.1 2408 0.001 -
A-4 EXdH M4 LX40/1 10.1 2408 0.001 -
A-5 MM LX40/1 10.1 402 0.002 -
A-6 37|68 & T LX40/1 10.2 402 0.001 -
A-7 37|uf &2 LX40/1 10.1 402 0.002 -
A-8 37|uf &3 LX40/1 10.2 402 0.003 -
A-9 374 &4 LX40/1 10.2 402 0.001 -
A-10 74 &5 LX40/1 10.1 402 0.002 .
A-11 H7|=gHE™M LX40/1 10.1 4082 0.002 -
A-12 ZhQI bR (AILY) LX40/1 10.1 1202 0.001 -
A-13 H7|E gt& LX40/1 10.2 408 0.003 -
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